Domain/Range — Independent/Dependent

34 A plane can carry a maximum carge weight of 160,000 pounds. A company uses one of these
planes ta ship 2,000-pound containers, The total cargo weight is a function of the number of
conitainers in the plane. What s the greatest value in the domain for this situation?

Record wour answer and il in the bubbles on yvour answer document,

54 The student council sent its members on four field trips during the school vear, The number of
buses needed to transport the members on each rip is & function of the number of members
who went on each trip, This function consists of only the ordered pairs {52, 33, (72, 43,

{86, 5], and {105, 6}, What is the domain for this situation?

{52, 105%
{3, 4, 5, 6}

{52, 72, 86, 105}
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{3, 4,5, 6,52, 72, 86, 105}



Domain/Range — Independent/Dependent

16 What is the range of the function graphed on the grid?
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Domain/Range — Independent/Dependent

10 The mapping below represents all of the poirts on the graph of function £
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What is the domain of £7
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Domain/Range — Independent/Dependent

39 Function fis graphed below.

What is the range of F7?
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Domain/Range — Independent/Dependent

13 Which graph shows 8 function with a domain of all real numbers greater than 77




Domain/Range — Independent/Dependent

39 The number of ferryboat trips, fc), neaded to transport © cars in 1 day can be found using

the function A = EL%S If there are no more than 5,000 cars transported by ferryboat daily,

what is the range of the funchion for this situstion?

The set of all integers from 0 to 5,000

The set of all integers greater than or equal to 250

0 0 m e

The set of all integers from O to 250



Domain/Range — Independent/Dependent

48 ‘What is the range of the function shown balow?

15 In three different workouts a runner burned 300 calories in 30 minutes, 350 calories in
35 minutes, and 200 calories in 20 minutes, Based on the data, which statement is true if the
number of calories burned is a function of the number of minutes the runner worked out?
Tha number of minutes the runner worked out is the dependent cuantity.

The number of workouts the runner completed is the dependent quantity.

The number of calories burned is the dependant quantity.

L I N < B,

The number of steps the runner takes is the depandent quantity.



Domain/Range — Independent/Dependent

quantity in this situation?
The number of students In the class
The total number of books to order

The number of books each student nesds

X & 0m

dot here

g

35 A print shop charges a fixed amount per photocopy and gives & 10% discount ofF the total
cost of the photocopies, The total cost is a function of the number of photocopies made, What
is the independent guantity in this situation?

The total cost of the photocopies
The price per photocopy

The amount of the discount
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The total number of photocopies mads



